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Task 1

Task 2

Task 3

Task 4

Practice

5+5=1

10+5=2
20+-5=4
35+5=7
15+5=3
45+5=9
40+5=38

Using circles and
dots, divide these
numbers by 5:

Practice

Use the multiplication
inverse (x) to solve these
missing number division
calculations. Example:

55+5=11
11x5=55

60+5=12
12x5=60

75+5=15
15x5=75

100+5=20
20x5=100

Reasoning
Explain your answers.

7a. Joel is comrect because
45-5=40:40=5=8;5x8=40

7b. Kasey is comrect becavse 35-5=30,
0:5=6.5x6=30.

Problem solving

9a. Nine lots of 5 sweets equals 45; 4 lofs of
5p =20 one pence coins

9. 10 marbles shared between 5 people
= 2 marbles each:; 5 frain rides = £20, each
frain ride costs £4 each.




